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Section:          
Serial:
	Question No
	Full Marks
	Marks Obtained

	1
	7
	

	2
	10
	

	3
	22
	

	4
	7
	

	5
	7
	

	6
	7
	

	7
	20
	

	Total
	80
	


Q1.The following table presents data on the number of moving traffic offenses during the past five years for various age groups

	Age
	Number of Traffic Offenses
	Total

	
	0
	1 to 2
	3 or more 
	

	16 - 25
	6
	22
	32
	60

	
	
	
	
	

	26 - 50
	12
	17
	10
	39

	
	
	
	
	

	51 - 75
	4
	16
	11
	31

	
	
	
	
	

	Total
	22
	55
	53
	130


Based on these data, can we conclude that the number of traffic offenses is independent of the age? Use 
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	The hypothesis are 
	H0:

HA:



	The test statistic Value
	

	The critical Value:
	

	Decision Rule
	

	Conclusion
	


Q2.A marketing research study performed by the marketing division of a certain company surveyed the income levels and expenditures of recreation for a sample of 20 people. Measurements recorded the expenditures on recreation during the previous year, Y (In 100,000 S.R), and the total family income, X (In 100,000 S.R).

	X
	21.3
	30.2
	31.5
	45.9
	34.6
	17.8
	53.6
	17.4
	26.8
	15.7

	Y
	1.425
	1.675
	1.356
	4.53
	3.2
	1.06
	4.09
	1.2
	1.8
	0.7

	X
	17.6
	16.89
	28
	14.3
	9.8
	24.7
	20.5
	31.7
	47.8
	8.4

	Y
	0.9
	1
	2.45
	0.65
	0.3
	1.5
	0.89
	2.3
	3.1
	0.1


Given that:
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	a. 
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	Interpretation of  
[image: image4.wmf]r

=




	b. Calculate the least square estimates 
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	c. Is it possible to calculate
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? If yes find it and interpret its value 
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Interpretation of
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	d. Compute a 95% confidence interval for the average value of Y given 
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Q3. The following Minitab output is the result of a multiple regression analysis in which we are interested in explaining the variation in retail price (Y) of personal computers based on four independent variables, monitor included (1=Yes, 0=No) (X1), CPU Speed in Mhz (X2), RAM in MB’s (X3), and Hard drive capacity in GB’s (X4).
Regression Analysis: Y versus X1; X2; X3; X4; X2X4

The regression equation is

Y = 1404 + 49 X1 - 3.37 X2 + 4.72 X3 - 105 X4 + 0.644 X2X4

Predictor        Coef     SE Coef          T        P       VIF

Constant         1404        1765       0.80    0.433

X1               48.7       240.5       0.20    0.841       1.0

X2             -3.372       4.689      -0.72    0.478       8.3

X3              4.721       3.005       1.57    0.127       2.2

X4             -104.9       304.6      -0.34    0.733     133.3

X2X4           0.6442      0.6967       0.92    0.363     176.2

S = 697.0       R-Sq = 70.5%     R-Sq(adj) = 65.5%

Analysis of Variance

Source            DF          SS          MS         F        P

Regression         5    34753583     6950717     14.31    0.000

Residual Error    30    14573666      485789

Total             35    49327250

Source       DF      Seq SS

X1            1      252592

X2            1    21234267

X3            1     5713693

X4            1     7137818

X2X4          1      415213

Unusual Observations

Obs         X1          Y         Fit      SE Fit    Residual    St Resid

 23       1.00       1900        3364         441       -1464       -2.71R 

 24       1.00       6360        4511         440        1849        3.42R 

R denotes an observation with a large standardized residual

Durbin-Watson statistic = 2.07

Predicted Values for New Observations

New Obs     Fit     SE Fit         95.0% CI             95.0% PI

1          1170        259   (     640;    1700)  (    -349;    2689)   

Values of Predictors for New Observations

New Obs        X1        X2        X3        X4      X2X4

1            1.00       400      64.0      5.00      2000

Best Subsets Regression: Y versus X1; X2; X2X4

Response is Y

                                                    X 

                                                    2 

                                                X X X 

Vars   R-Sq    R-Sq(adj)        C-p         S   1 2 4 

   1   67.7         66.8        0.3    684.26       X 

   1   42.8         41.2       25.2    910.58     X   

   2   68.0         66.0        2.0    691.92     X X 

   2   67.8         65.8        2.2    693.89   X   X 

   3   68.0         65.0        4.0    702.25   X X X 

Correlations: Y; X1; X2; X3; X4

              Y       X1       X2       X3

X1        0.072

          0.678

X2        0.655   -0.020

          0.000    0.910

X3        0.691    0.045    0.658

          0.000    0.795    0.000

X4        0.819    0.083    0.761    0.708

          0.000    0.632    0.000    0.000

Cell Contents: Pearson correlation

               P-Value
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Given this output and your knowledge of multiple regression, answer the following;
	a. The slope of the Speed variable is
	

	b. Is the relationship between RAM and Hard drive significant? Why?
	Ho:

HA:

	
	Decision:

	c. Are the independent variables significant in explaining the variation in the Price? Why?
	Ho:

HA:

	
	Decision:

	d. Do Speed and Hard drive interact on varying the value of the Price? Why?
	Ho:

HA:

	
	Decision:

	e. Check the assumptions of the multiple regression
	

	
	

	
	

	
	

	f. What will be the Price of a computer including the monitor, has a Speed of  400 Mhz, a RAM of 64 MB’s and a Hard drive capacity of 5 GB’s?
	

	g. A 95% CI for the average Price of computers with the specs in (f) is
	

	h. The two variables that have no severe multicolinearity are
	

	
	

	i. A 99% CI for the slope of the Hard drive capacity of the computer is
	

	j. The percentage of variation in Price explained by the indep. variables is
	

	k. The estimated variance of  the regression model is
	

	l. Using the best subset regression option, what is the best group of indep. variables that explain the variation in the Price? And has a C-p value of
	

	
	


Q4. The U.S. Golf Association undertook a study of two brands of golf balls with the objective to see whether there is a consistency in the distance (in feet) that the two golf ball brands will fly off the tee. To conduct the test, the U.S.G.A. uses a robot named “Iron Byron,” which swings the club at the same speed and with the same swing pattern each time it is used. The following data reflect sample data for a random sample of balls of each brand.

	
	
	
	
	
	
	
	
	
	
	
	Σx
	Σx2

	Brand A
	234
	236
	230
	227
	234
	233
	228
	229
	230
	238
	2319
	537895

	Brand B
	240
	236
	241
	236
	239
	243
	230
	239
	243
	240
	2387
	569913


Using 2.5% sig. level, do you think that the variation in brand A is not greater than that in brand B?
	Hypotheses:
	Ho:

HA:

	Check the assumptions:
	1.
2.

	Test statistic =
	

	Critical value =
	

	Decision rule:
	

	Decision:
	

	Conclusion:
	


Q5. A maker of toothpaste is interested in testing whether the proportion of adults (over age 18) who use their toothpaste and have no cavities within a six-month period is any different than the proportion of children (18 and under) who use the toothpaste and have no cavities within a six-month period. To test this, they have selected a sample of adults and a sample of children randomly from the population of those customers who use their toothpaste. The following results were observed.




          Adults


Children


Sample Size


100


   200

Number with 0 cavities
  83


   165

Using the p-value approach and a significance level of 0.05, do you think that adults are different than children?
	Hypotheses:
	Ho:

HA:

	Check the assumptions:
	1.

2.

3.



	Test statistic =
	

	P-value =
	

	Decision rule:
	

	Decision:
	

	Conclusion:
	


Q6. Referring to question (2) above, if the manufacturer of brand A balls thinks that he average flying distance for the balls is approximately 235 feet. Do the data provide sufficient evidence to support the claim of the manufacturer? Use 2% significance level.
	Hypotheses:
	Ho:

HA:

	Check the assumptions:
	1.

2.

3.

	Test statistic =
	

	Critical value =
	

	Decision rule:
	

	Decision:
	

	Conclusion:
	


Q7. 
a. The following table represents the total sales of a big company (In millions of S.R.)

	Years
	1997
	1998
	1999
	2000

	Sales
	1.5
	2.01
	2.25
	2.35


Use the year 1997 as the base year to find the simple index value for the year 1999, and interpret its value

	
[image: image13.wmf]1999

I

=


	Interpretation: 


b. The following table represents the expenses of a big university for three years (In millions of S.R.)

	Year
	Salaries
	Lab Materials
	Housing 
	Maintenance

	1999
	2
	0.15
	0.5
	0.75

	2000
	2.1
	0.16
	0.45
	0.6

	2001
	2.3
	0.2
	0.55
	0.8


Calculate an unweighted aggregate price index for the year 2001 using 1999 as the base year, and interpret its value.
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	Interpretation: 


c. The following values represent advertising rates paid by a regional catalog retailer that advertises either on TV or in newspaper (In S.R.)

	Year
	TV Ad.
	%on TV Ad.
	Newspapers Ad.

	1
	1050
	30
	1400

	2
	1085
	35
	1470

	3
	1115
	35
	1610

	4
	1330
	45
	2240


I. Find the Paashe index for the year 3 using year 1 as a base year, and interpret its value
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	Interpretation: 


II. Find the Laspeyres  index for the year 4 using year 1 as a base year, and interpret its value
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	Interpretation: 


d. Al-Riyadh bank has two major branches, one in Jeddah, and the other in Al-Riyadh. The manger of the bank wants to evaluate the number of new clients in each quarter, the bank considered four years 1999 – 2002. The seasonal index for each quarter is given below 

	Quarter 
	1
	2
	3
	4

	Seasonal Index
	1.0323
	0.9236
	1.0823
	0.9745


I. Normalize the seasonal index values

	Quarter 
	1
	2
	3
	4

	Normal Seasonal Index values 
	
	
	
	


II. Suppose that the seasonally unadjusted forecast for the 3rd quarter of 2002 is 263.6149, find the adjusted forecasted value for the 3rd quarter of 2002.

	Adjusted forecasted value = 

 


III. Find the desesonalized value of 
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 if it was in the 2nd quarter of the year 1999.

	Desesonalized  value =

 


e. The following data represents the total sales for a certain market for the previous four years (In 100,000 S.R.)

	Year
	Sales
	Forecasted value 
[image: image18.wmf]t
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	2001
	780
	780

	2002
	815
	780

	2003
	795
	787

	2004
	820
	788.6


I. Using the values in the above table, find the single exponential smoothing forecast value  for the year 2005 using 
[image: image19.wmf]0.20
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	The forecasted value  for the year 2005 = 

 


II. Using 
[image: image20.wmf]0.20
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 and 
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, find the double exponential smoothing forecast value  for the year 2002, given that the fitted line equation for the sales is 
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	C0 =      
	T0 = 

	C1 = 
	T1 = 

	F2 =


III. If MAD for the single and double exponential smoothing methods are 16.445, 11.246 respectively, which method is better? Why?

	Answer: 

Reason:  

 


With Our Best Wishes
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��������Residual Plots: RESI1 vs FITS1���������������������������������������������������������������������������������������������������������������Õ�������Ô��Residual Plots: RESI1 vs FITS1��������������������������������������������������������������������������������������������������;; HMF V1.24 TEXT
;; (Microsoft Win32 Intel 386)  HOOPS 5.00-17 I.M. 3.00-17
(Selectability "windows=off,geometry=on")
(Visibility "on")
(Color_By_Index "Geometry,Face Contrast" 1)
(Color_By_Index "Window" 0)
(Window_Frame "off")
(Window -1 1 -1 1)
(Camera (0 0 -5) (0 0 0) (0 1 0) 2 2 "Stretched")

;; (Driver_Options "no backing storeno borderno control areadisable input,no do
;; uble-bufferingno double bufferingno force black-and-whiteno force black and 
;; whiteno gamma correctionsubscreen=(-0.999902,-0.238183,-0.99987,-0.314973),n
;; o subscreen creatingno subscreen movingno subscreen resizingno subscreen str
;; etchingno update interrupts,use window id=2884904")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
(Text_Font "name=arial-gdi-vector,no transforms,rotation=follow path")
(User_Options "mtb aspect ratio=0.675953,graphicsversion=6,worksheettitle=\"COM
PUTERS.MTW\",optiplot=0,builtin=0,statguideid=2201,toplayer=0,angle=0,arrowdir=
0,arrowstyle=0,polygon=0,isdata=0,textfollowpath=1,ldfill=0,solidfill=0,3d=0,us
ebitmap=0,canbrush=0,brushrows=36,light scaling=0.00000,sessionline=-1")
(Segment "include" ())
(Front ((Segment "figure1" (
    (Window_Pattern "clear")
    (Window -1 0.1 -1 -0.03)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.499975 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.499975 0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "bar1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02623 sru")
		    (Segment "" (
		      (Text 0.579971 -0.669966 0 "2000")))
		    (Segment "" (
		      (Text 0.314984 -0.669966 0 "1000")))
		    (Segment "" (
		      (Text 0.0499975 -0.669966 0 "0")))
		    (Segment "" (
		      (Text -0.214989 -0.669966 0 "-1000")))
		    (Segment "" (
		      (Text -0.479976 -0.669966 0 "-2000")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((0.579971 -0.59997 0) (0.579971 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.314984 -0.59997 0) (0.314984 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.0499975 -0.59997 0) (0.0499975 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.214989 -0.59997 0) (-0.214989 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.479976 -0.59997 0) (-0.479976 -0.639968 
			   0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02623 sru")
		    (Segment "" (
		      (Text -0.569971 0.364762 0 "10")))
		    (Segment "" (
		      (Text -0.569971 -0.0911904 0 "5")))
		    (Segment "" (
		      (Text -0.569971 -0.547142 0 "0")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.499975 0.364762 0) (-0.539973 0.364762 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.0911904 0) (-0.539973 
			   -0.0911904 0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.547142 0) (-0.539973 -0.547142
			   0)))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.0306 sru")
		    (Segment "" (
		      (Text 0.0499975 -0.815648 0 "Residual")))
		    (Segment "" (
		      (Polyline ((-0.479976 -0.59997 0) (0.579971 -0.59997 0)))
		      ))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.0306 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=9")
		      (Polygon ((-0.781682 -0.319007 0) (-0.781682 0.295857 0) 
			(-0.656087 0.295857 0) (-0.656087 -0.319007 0)))
		      (Renumber (Text -0.687486 -0.319007 0 "Frequency") 1 "L")
		      
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Frequency") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.499975 -0.579971 0) (-0.499975 0.579971 0)
			))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.48 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "bar1" (
		(Visibility "faces=off")
		(Color_By_Index "Face" 0)
		(User_Options "ldfill=1")
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.812459 -0.943349 0) (0.937453 -0.943349 0) 
		       (0.937453 -0.786124 0) (0.812459 -0.786124 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.687466 -0.943349 0) (0.812459 -0.943349 0) 
		       (0.812459 -0.943349 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.562472 -0.943349 0) (0.687466 -0.943349 0) 
		       (0.687466 -0.786124 0) (0.562472 -0.786124 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.437478 -0.943349 0) (0.562472 -0.943349 0) 
		       (0.562472 -0.628899 0) (0.437478 -0.628899 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.312484 -0.943349 0) (0.437478 -0.943349 0) 
		       (0.437478 -0.786124 0) (0.312484 -0.786124 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.187491 -0.943349 0) (0.312484 -0.943349 0) 
		       (0.312484 -0.628899 0) (0.187491 -0.628899 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.0624969 -0.943349 0) (0.187491 -0.943349 0) 
		       (0.187491 -0.157225 0) (0.0624969 -0.157225 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.0624969 -0.943349 0) (0.0624969 -0.943349 0) 
		      (0.0624969 0.943349 0) (-0.0624969 0.943349 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.187491 -0.943349 0) (-0.0624969 -0.943349 0) 
		      (-0.0624969 -0.157225 0) (-0.187491 -0.157225 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.312484 -0.943349 0) (-0.187491 -0.943349 0) (
		       -0.187491 -0.628899 0) (-0.312484 -0.628899 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.437478 -0.943349 0) (-0.312484 -0.943349 0) (
		       -0.312484 -0.786124 0) (-0.437478 -0.786124 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.562472 -0.943349 0) (-0.437478 -0.943349 0) (
		       -0.437478 -0.471675 0) (-0.562472 -0.471675 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.687466 -0.943349 0) (-0.562472 -0.943349 0) (
		       -0.562472 -0.943349 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.812459 -0.943349 0) (-0.687466 -0.943349 0) (
		       -0.687466 -0.786124 0) (-0.812459 -0.786124 0)))))))))))
	    ))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03497 sru")
	    (Segment "" (
	      (Text 0.0499975 0.829958 0 "Histogram of Residuals")))))))))))))
  (Segment "figure2" (
    (Window_Pattern "clear")
    (Window -0.1 1 -0.07 0.9)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.499975 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.499975 0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())
	      (Segment "connect1" ())
	      (Segment "connect2" ())
	      (Segment "connect3" ())
	      (Segment "connect4" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02623 sru")
		    (Segment "" (
		      (Text 0.579971 -0.669966 0 "40")))
		    (Segment "" (
		      (Text 0.315315 -0.669966 0 "30")))
		    (Segment "" (
		      (Text 0.0506591 -0.669966 0 "20")))
		    (Segment "" (
		      (Text -0.213997 -0.669966 0 "10")))
		    (Segment "" (
		      (Text -0.478653 -0.669966 0 "0")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((0.579971 -0.59997 0) (0.579971 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.315315 -0.59997 0) (0.315315 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.0506591 -0.59997 0) (0.0506591 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.213997 -0.59997 0) (-0.213997 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.478653 -0.59997 0) (-0.478653 -0.639968 
			   0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02623 sru")
		    (Segment "" (
		      (Text -0.569971 0.540991 0 "2000")))
		    (Segment "" (
		      (Text -0.569971 0.26075 0 "1000")))
		    (Segment "" (
		      (Text -0.569971 -0.0194901 0 "0")))
		    (Segment "" (
		      (Text -0.569971 -0.299731 0 "-1000")))
		    (Segment "" (
		      (Text -0.569971 -0.579971 0 "-2000")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.499975 0.540991 0) (-0.539973 0.540991 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 0.26075 0) (-0.539973 0.26075 0))
			 )))
		      (Segment "" (
			(Polyline ((-0.499975 -0.0194901 0) (-0.539973 
			   -0.0194901 0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.299731 0) (-0.539973 -0.299731
			   0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.579971 0) (-0.539973 -0.579971
			   0)))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.0306 sru")
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v<")
		      (Text_Path 1 0 0)
		      (User_Options "polygon=3,linect=1,charct=18")
		      (Polygon ((-0.270604 -0.762818 0) (0.370599 -0.762818 0) 
			(0.370599 -0.974139 0) (-0.270604 -0.974139 0)))
		      (Renumber (Text -0.270604 -0.921309 0 "Observation Number
") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Observation Number") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.479976 -0.59997 0) (0.579971 -0.59997 0)))
		      ))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.0306 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=8")
		      (Polygon ((-0.878452 -0.260449 0) (-0.878452 0.237299 0) 
			(-0.752857 0.237299 0) (-0.752857 -0.260449 0)))
		      (Renumber (Text -0.784255 -0.260449 0 "Residual") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Residual") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.499975 -0.579971 0) (-0.499975 0.579971 0)
			))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.48 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 36)
		    (Marker 0.80021 0.485619 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 35)
		    (Marker 0.750275 -0.472394 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 34)
		    (Marker 0.700339 -0.347203 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 33)
		    (Marker 0.650404 -0.520816 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 32)
		    (Marker 0.600469 -0.0833169 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 31)
		    (Marker 0.550534 -0.295641 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 30)
		    (Marker 0.500599 -0.197809 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 29)
		    (Marker 0.450664 -0.0215064 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 28)
		    (Marker 0.400729 -0.0490156 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 27)
		    (Marker 0.350794 -0.542087 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 26)
		    (Marker 0.300859 0.151115 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 25)
		    (Marker 0.250924 0.321556 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 24)
		    (Marker 0.200989 0.859631 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 23)
		    (Marker 0.151054 -0.741094 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 22)
		    (Marker 0.101119 0.173529 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 21)
		    (Marker 0.0511835 0.131563 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 20)
		    (Marker 1.24838e-3 0.510668 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 19)
		    (Marker -0.0486867 -0.0673925 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 18)
		    (Marker -0.0986218 -0.0843462 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 17)
		    (Marker -0.148557 0.468099 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 16)
		    (Marker -0.198492 0.038493 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 15)
		    (Marker -0.248427 -0.299458 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 14)
		    (Marker -0.298362 -6.55604e-3 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 13)
		    (Marker -0.348297 -0.15734 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 12)
		    (Marker -0.398232 -0.183665 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 11)
		    (Marker -0.448167 0.0348047 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 10)
		    (Marker -0.498102 -0.094205 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 9)
		    (Marker -0.548037 -0.0931299 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 8)
		    (Marker -0.597973 -0.0233298 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 7)
		    (Marker -0.647908 0.0470524 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 6)
		    (Marker -0.697843 -7.1853e-3 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 5)
		    (Marker -0.747778 5.45601e-3 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 4)
		    (Marker -0.797713 -0.0811386 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 3)
		    (Marker -0.847648 0.111192 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 2)
		    (Marker -0.897583 -0.0569204 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 2)
		    (Marker_Size 0.210938)
		    (Marker_Symbol "*")
		    (User_Value 1)
		    (Marker -0.947518 -0.122957 0)))))))
	      (Segment "connect1" (
		(Color_By_Index "Face Contrast,Line,Edge" 1)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.947518 -0.122957 0) (-0.897583 -0.0569204 0) (
		     -0.847648 0.111192 0) (-0.797713 -0.0811386 0) (-0.747778 
		     5.45601e-3 0) (-0.697843 -7.1853e-3 0) (-0.647908 
		     0.0470524 0) (-0.597973 -0.0233298 0) (-0.548037 
		     -0.0931299 0) (-0.498102 -0.094205 0) (-0.448167 0.0348047
		     0) (-0.398232 -0.183665 0) (-0.348297 -0.15734 0) 
		     (-0.298362 -6.55604e-3 0) (-0.248427 -0.299458 0) 
		     (-0.198492 0.038493 0) (-0.148557 0.468099 0) (-0.0986218 
		     -0.0843462 0) (-0.0486867 -0.0673925 0) (1.24838e-3 
		     0.510668 0) (0.0511835 0.131563 0) (0.101119 0.173529 0) (
		     0.151054 -0.741094 0) (0.200989 0.859631 0) (0.250924 
		     0.321556 0) (0.300859 0.151115 0) (0.350794 -0.542087 0) (
		     0.400729 -0.0490156 0) (0.450664 -0.0215064 0) (0.500599 
		     -0.197809 0) (0.550534 -0.295641 0) (0.600469 -0.0833169 0
		     ) (0.650404 -0.520816 0) (0.700339 -0.347203 0) (0.750275 
		     -0.472394 0) (0.80021 0.485619 0)))))))
	      (Segment "connect2" (
		(Color_By_Index "Face Contrast,Line,Edge" 3)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.972486 -0.0336035 0) (0.825177 -0.0336035 0)))
		  ))))
	      (Segment "connect3" (
		(Color_By_Index "Face Contrast,Line,Edge" 2)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.972486 0.763753 0) (0.825177 0.763753 0)))))))
	      
	      (Segment "connect4" (
		(Color_By_Index "Face Contrast,Line,Edge" 2)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.972486 -0.83096 0) (0.825177 -0.83096 0)))))))
	      ))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03497 sru")
	    (Segment "" (
	      (Text 0.0499975 0.829958 0 "I Chart of Residuals")))))
	  (Segment "text2" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Selectability "polygons=on!,text=off")
	      (Visibility "polygons=off")
	      (Text_Alignment "v<")
	      (Text_Path 1 0 0)
	      (User_Options "polygon=3,linect=1,charct=1")
	      (Polygon ((-0.462604 -0.102064 0) (-0.44177 -0.102064 0) 
		 (-0.44177 -0.210926 0) (-0.462604 -0.210926 0)))
	      (Renumber (Text -0.462604 -0.183711 0 "1") 1 "L")
	      (Segment "raw" (
		(Visibility "off")
		(Renumber (Text 0 0 0 "1") 1 "L")))))))
	  (Segment "text3" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.425722 -0.0869437 0 "1")))))
	  (Segment "text4" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.399256 0.118421 0 "1")))))
	  (Segment "text5" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.37279 -0.10099 0 "1")))))
	  (Segment "text6" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.346325 0.0570943 0 "1")))))
	  (Segment "text7" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.319859 0.0497624 0 "1")))))
	  (Segment "text8" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.293394 0.0812202 0 "1")))))
	  (Segment "text9" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.266928 0.0403985 0 "1")))))
	  (Segment "text10" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.240462 -0.107945 0 "1")))))
	  (Segment "text11" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.213997 -0.108569 0 "1")))))
	  (Segment "text12" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.187531 0.0741166 0 "1")))))
	  (Segment "text13" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Selectability "polygons=on!,text=off")
	      (Visibility "polygons=off")
	      (Text_Alignment "v<")
	      (Text_Path 1 0 0)
	      (User_Options "polygon=3,linect=1,charct=1")
	      (Polygon ((-0.171483 -0.106024 0) (-0.150649 -0.106024 0) 
		 (-0.150649 -0.214886 0) (-0.171483 -0.214886 0)))
	      (Renumber (Text -0.171483 -0.187671 0 "1") 1 "L")
	      (Segment "raw" (
		(Visibility "off")
		(Renumber (Text 0 0 0 "1") 1 "L")))))))
	  (Segment "text14" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.1346 -0.145187 0 "1")))))
	  (Segment "text15" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.108134 0.0501273 0 "1")))))
	  (Segment "text16" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.0816688 -0.227615 0 "1")))))
	  (Segment "text17" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.0552032 0.0762558 0 "1")))))
	  (Segment "text18" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -0.0287376 0.325427 0 "1")))))
	  (Segment "text19" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text -2.27205e-3 -0.102851 0 "1")))))
	  (Segment "text20" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.0241935 -0.0930175 0 "1")))))
	  (Segment "text21" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.0506591 0.350118 0 "1")))))
	  (Segment "text22" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.0771247 0.130237 0 "1")))))
	  (Segment "text23" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.10359 0.154577 0 "1")))))
	  (Segment "text24" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.130056 -0.483764 0 "1")))))
	  (Segment "text25" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.156522 0.552516 0 "1")))))
	  (Segment "text26" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.182987 0.240432 0 "1")))))
	  (Segment "text27" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.209453 0.141577 0 "1")))))
	  (Segment "text28" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.235918 -0.36834 0 "1")))))
	  (Segment "text29" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.262384 -0.0823589 0 "1")))))
	  (Segment "text30" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.288849 0.0414561 0 "1")))))
	  (Segment "text31" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.315315 -0.168659 0 "1")))))
	  (Segment "text32" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.341781 -0.225402 0 "1")))))
	  (Segment "text33" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.368246 -0.102254 0 "1")))))
	  (Segment "text34" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.394712 -0.356003 0 "1")))))
	  (Segment "text35" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.421177 -0.255308 0 "1")))))
	  (Segment "text36" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.447643 -0.327918 0 "1")))))
	  (Segment "text37" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "**")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.474109 0.335589 0 "1")))))
	  (Segment "text38" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "*<")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.629968 -0.0194901 0 "Mean=-1.0E-12")))))
	  (Segment "text39" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "*<")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.629968 0.442977 0 "UCL=1650")))))
	  (Segment "text40" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "*<")
	    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
	    (Segment "" (
	      (Text 0.629968 -0.481957 0 "LCL=-1650")))))))))))))
  (Segment "figure3" (
    (Window_Pattern "clear")
    (Window -0.1 1 -1 -0.03)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.499975 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.499975 0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02623 sru")
		    (Segment "" (
		      (Text 0.548312 -0.669966 0 "4500")))
		    (Segment "" (
		      (Text 0.29124 -0.669966 0 "3500")))
		    (Segment "" (
		      (Text 0.0341679 -0.669966 0 "2500")))
		    (Segment "" (
		      (Text -0.222904 -0.669966 0 "1500")))
		    (Segment "" (
		      (Text -0.479976 -0.669966 0 "500")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((0.548312 -0.59997 0) (0.548312 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.29124 -0.59997 0) (0.29124 -0.639968 0)))
			))
		      (Segment "" (
			(Polyline ((0.0341679 -0.59997 0) (0.0341679 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.222904 -0.59997 0) (-0.222904 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.479976 -0.59997 0) (-0.479976 -0.639968 
			   0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02623 sru")
		    (Segment "" (
		      (Text -0.569971 0.579971 0 "2000")))
		    (Segment "" (
		      (Text -0.569971 0.254478 0 "1000")))
		    (Segment "" (
		      (Text -0.569971 -0.0710151 0 "0")))
		    (Segment "" (
		      (Text -0.569971 -0.396508 0 "-1000")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.499975 0.579971 0) (-0.539973 0.579971 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 0.254478 0) (-0.539973 0.254478 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.0710151 0) (-0.539973 
			   -0.0710151 0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.396508 0) (-0.539973 -0.396508
			   0)))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Text" 1)
		    (Color_By_Index "Face Contrast,Line,Edge" 2)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Font "name=arial-gdi-vector,size=0.01748 sru")
		    (Segment "" (
		      (Polyline ((-0.499975 -0.0710151 0) (0.59997 -0.0710151 0
			 )))))))))))
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.0306 sru")
		    (Segment "" (
		      (Text 0.0499975 -0.815648 0 "Fit")))
		    (Segment "" (
		      (Polyline ((-0.479976 -0.59997 0) (0.579971 -0.59997 0)))
		      ))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.0306 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=8")
		      (Polygon ((-0.878452 -0.260449 0) (-0.878452 0.237299 0) 
			(-0.752857 0.237299 0) (-0.752857 -0.260449 0)))
		      (Renumber (Text -0.784255 -0.260449 0 "Residual") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Residual") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.499975 -0.579971 0) (-0.499975 0.579971 0)
			))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.48 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 36)
		    (Marker 0.503383 0.480625 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 35)
		    (Marker -0.220419 -0.632085 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 34)
		    (Marker 0.526981 -0.486679 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 33)
		    (Marker 0.216224 -0.688327 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 32)
		    (Marker 0.165066 -0.180181 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 31)
		    (Marker -0.10683 -0.426791 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 30)
		    (Marker -0.229778 -0.313161 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 29)
		    (Marker -0.226812 -0.108389 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 28)
		    (Marker -0.305905 -0.140341 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 27)
		    (Marker 0.431593 -0.713032 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 26)
		    (Marker -0.244402 0.0921066 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 25)
		    (Marker -0.406286 0.29007 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 24)
		    (Marker 0.945704 0.915032 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 23)
		    (Marker 0.389334 -0.944174 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 22)
		    (Marker -0.286305 0.11814 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 21)
		    (Marker -0.57643 0.0693978 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 20)
		    (Marker -0.334208 0.50972 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 19)
		    (Marker -0.289398 -0.161685 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 18)
		    (Marker 0.311612 -0.181376 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 17)
		    (Marker -0.296809 0.460276 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 16)
		    (Marker -0.796337 -0.0387012 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 15)
		    (Marker -0.607442 -0.431224 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 14)
		    (Marker -0.760814 -0.0910248 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 13)
		    (Marker -0.730707 -0.266157 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 12)
		    (Marker -0.63104 -0.296732 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 11)
		    (Marker -0.86248 -0.0429851 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 10)
		    (Marker -0.794087 -0.192827 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 9)
		    (Marker -0.746662 -0.191578 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 8)
		    (Marker -0.768228 -0.110507 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 7)
		    (Marker -0.838882 -0.0287598 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 6)
		    (Marker -0.817903 -0.0917556 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 5)
		    (Marker -0.680715 -0.077073 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 4)
		    (Marker -0.807204 -0.177651 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 3)
		    (Marker -0.757758 0.0457374 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 2)
		    (Marker -0.736447 -0.149522 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.668701 -0.226221 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03497 sru")
	    (Segment "" (
	      (Text 0.0499975 0.829958 0 "Residuals vs. Fits")))))))))))))
  (Segment "figure4" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.724964 0.123994 0) (-0.119994 0.123994 0) 
		 (-0.119994 0.705965 0) (-0.724964 0.705965 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02539 sru")
		    (Segment "" (
		      (Text -0.170399 0.0939953 0 "2")))
		    (Segment "" (
		      (Text -0.296439 0.0939953 0 "1")))
		    (Segment "" (
		      (Text -0.422479 0.0939953 0 "0")))
		    (Segment "" (
		      (Text -0.548519 0.0939953 0 "-1")))
		    (Segment "" (
		      (Text -0.674558 0.0939953 0 "-2")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.170399 0.123994 0) (-0.170399 0.103995 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.296439 0.123994 0) (-0.296439 0.103995 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.422479 0.123994 0) (-0.422479 0.103995 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.548519 0.123994 0) (-0.548519 0.103995 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.674558 0.123994 0) (-0.674558 0.103995 0
			   )))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02539 sru")
		    (Segment "" (
		      (Text -0.774961 0.685966 0 "2000")))
		    (Segment "" (
		      (Text -0.774961 0.533882 0 "1000")))
		    (Segment "" (
		      (Text -0.774961 0.381798 0 "0")))
		    (Segment "" (
		      (Text -0.774961 0.229714 0 "-1000")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.724964 0.685966 0) (-0.744963 0.685966 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.533882 0) (-0.744963 0.533882 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.381798 0) (-0.744963 0.381798 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.229714 0) (-0.744963 0.229714 0
			   )))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Edge" 1)
		    (Color_By_Index "Text" 2)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "v*")
		    (Text_Font "name=arial-gdi-vector,size=0.03385 sru")
		    (Segment "" (
		      (Text -0.422479 0.755962 0 "Normal Plot of Residuals")))
		    (Segment "" (
		      (Polyline ((-0.704965 0.705965 0) (-0.139993 0.705965 0))
		       )))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02962 sru")
		    (Segment "" (
		      (Text -0.422479 0.0239988 0 "Normal Score")))
		    (Segment "" (
		      (Polyline ((-0.704965 0.123994 0) (-0.139993 0.123994 0))
		       )))))
		  (Segment "set3" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02962 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=8")
		      (Polygon ((-0.941797 0.300046 0) (-0.941797 0.519479 0) (
			 -0.877723 0.519479 0) (-0.877723 0.300046 0)))
		      (Renumber (Text -0.893741 0.300046 0 "Residual") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Residual") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.724964 0.143993 0) (-0.724964 0.685966 0))
		       )))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.705 -0.14 0.144 0.686)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 36)
		    (Marker 0.65052 0.480625 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 35)
		    (Marker -0.571775 -0.632085 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 34)
		    (Marker -0.507673 -0.486679 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 33)
		    (Marker -0.65052 -0.688327 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 32)
		    (Marker -0.109055 -0.180181 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 31)
		    (Marker -0.40373 -0.426791 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 30)
		    (Marker -0.359258 -0.313161 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 29)
		    (Marker 0.0775161 -0.108389 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 28)
		    (Marker 0.0154286 -0.140341 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 27)
		    (Marker -0.757229 -0.713032 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 26)
		    (Marker 0.40373 0.0921066 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 25)
		    (Marker 0.507673 0.29007 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 24)
		    (Marker 0.943349 0.915032 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 23)
		    (Marker -0.943349 -0.944174 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 22)
		    (Marker 0.452627 0.11814 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 21)
		    (Marker 0.359258 0.0693978 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 20)
		    (Marker 0.757229 0.50972 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 19)
		    (Marker -0.04636 -0.161685 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 18)
		    (Marker -0.14115 -0.181376 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 17)
		    (Marker 0.571775 0.460276 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 16)
		    (Marker 0.242862 -0.0387012 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 15)
		    (Marker -0.452627 -0.431224 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 14)
		    (Marker 0.14115 -0.0910248 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 13)
		    (Marker -0.279486 -0.266157 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 12)
		    (Marker -0.318099 -0.296732 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 11)
		    (Marker 0.207808 -0.0429851 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 10)
		    (Marker -0.207808 -0.192827 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 9)
		    (Marker -0.173993 -0.191578 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 8)
		    (Marker 0.04636 -0.110507 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 7)
		    (Marker 0.279486 -0.0287598 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 6)
		    (Marker 0.109055 -0.0917556 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 5)
		    (Marker 0.173993 -0.077073 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 4)
		    (Marker -0.0775161 -0.177651 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 3)
		    (Marker 0.318099 0.0457374 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 2)
		    (Marker -0.0154286 -0.149522 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.242862 -0.226221 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")
    (Front ((Segment "text1" (
	(Color_By_Index "Text" 1)
	(Text_Alignment "^*")
	(Text_Font "name=arial-gdi-vector,size=0.05078 sru")
	(Segment "" (
	  (Text 0 0.979951 0 "Residual Model Diagnostics")))))))))))
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